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102/BMS 1 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 

,yq;if fzf;fPl;Lj; njhopDl;gtpayhsu;fs; fofk; 

kl;lk; I - [dtup 2024 

(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 gupe;Jiuf;fg;gl;l tpilfs; 

 

 (nkhj;jk; 40 Gs;spfs;) 
          
tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

1.1 (4)   

              9x2 -25=(3x-5)(3x+5)  
(03 Gs;spfs;) 

1.2 (1)   

𝑆 = 𝑋(1 + 𝑟)𝑛  x= 400 000, n = 4,    r = 0.08,     

 𝑆 = 400 000 × 1.084 

S  = 544195.58 

tl;b    = 544196 – 400 000 = &gh. 144 196// 
(03 Gs;spfs;) 

1.3 (2) 

 P(XՈY) = P(X) + P(Y) – P(XՍY  

P(XՈY) = 0.40 + 0.55 – 0.85 

P(XՈY) = 0.10 

 
        (03 Gs;spfs;) 

1.4 (4)    

 𝑄 =
𝑞1

𝑞0
× 100 

𝑄 =
50

40
× 100 = 125% 

 
         (03 Gs;spfs;) 

 

gFjp A 

 

 

 

 

 



 

 

102/BMS 2 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.5  (3) 

 r   =              n ∑ XY -  ∑ X . ∑ Y 

                   √ (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

               r  =                 5 X 2863 – 293 X 60 

                   √ (5 X 20575 - 2932 ) (5 X 928 – 602 ) 

     =           - 0. 7759 
 (03 Gs;spfs;) 

1.6 (4) 

Md = L +
( 

𝑛

2
−𝐹𝑐 )

𝑓𝑚
 × 𝑐. 

 

Md = 29.5 +
(50 − 20 )

35
 × 10 

 

Md = 34 
 (03 Gs;spfs;) 

 

1.7  (3)  a = 1- 0.75 = 0.25 
           (03 Gs;spfs;) 

1.8 (1) 
             AER = (1 + r/N)N - 1      r=0.16,  N=4 

             AER = (1 + 0.16/4)4 - 1   

             AER = 0.16986 

             AER = 16.98% 

             (03 Gs;spfs;) 

1.9 (2) 

 𝑃𝑉 =
𝑋(1−(1+𝑟)−𝑛)

𝑟
 

 PV= 2000 000, n = 5,  r = 0.12 

 2000000 =
𝑥(1−1.12−5)

0.12
  

 𝑥 =
2000000×0.12

(1−1.12−4)
  

 𝑥 = 𝑅𝑠. 554,785   

 (03 Gs;spfs;) 

 



 

 

102/BMS 3 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.10 (2)                                                                                 

𝑌̂ = 𝑇̂ × 𝑆̂ 

 𝑌̂ = 1265 × 1.05 

 𝑌̂ = 1328 

                   (03 Gs;spfs;) 

1.11 

 A    3 

 B    1 

 C    4 

 D    2 

  (04 Gs;spfs;) 

1.12  
khzth; nrt;tha; kw;Wk; tpahof; fpoikfspy; njhiyf; fhl;rp ghh;j;j epkplq;fs;  

= 60 + 10 

=  70 epkplq;fs;   
                   (02 Gs;spfs;) 

1.13  

             𝑇𝑛  = 𝑎 + (𝑛 − 1)𝑑 

             𝑇𝑛  = 0 + 9 ×
1

4
 

              𝑇𝑛  =   
9

4
 

              𝑇𝑛  =  2 
1

4
   or 2.25                                                                                                          

 (02 Gs;spfs;) 
1.14      jtwhdJ                                                                                   

    (01 Gs;spfs;)                                                                                                                                                                      
1.15   rhpahdJ                                                                                                

(01 Gs;spfs;)    

(nkhj;jk;  40 Gs;spfs;) 

 

 
 

gFjp A KbT 



 

 

102/BMS 4 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 
 
 

tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

mj;jpahak; 01 – fzpjj;jpd; mbg;gil vz;zf;fUf;fs; 

 
(a) 

  𝑇𝑛  = 𝑎𝑟𝑛−1  a = 500,000, r = 1.15, n = 4 

     𝑇6  = 500,000 × 1.153  

     𝑇6 = 760,437.50 

ehd;fhtJ tUlj;jpyhd ,yhgk; = &gh. 760,437.50 

 (03 Gs;spfs;) 

(b) 

      fk;gdp A apd; xU gq;fpw;fhd fpuak; = &gh.  X 

      fk;gdp B apd; xU gq;fpw;fhd fpuak; = &gh. Y 

 61x + 80y  =  7,042               (1) 

 61x + 14y  =  3,346                   (2) 

(1) – (2)        66y   =   3,696 

    y    =       56 

    (1) =>  61x + 80 x 56  =    7,042 

  61x         =    2,562 

    x    =    42 

        fk;gdp A apd; xU gq;fpw;fhd fpuak; = &gh.  42 

   fk;gdp B apd; xU gq;fpw;fhd fpuak; = &gh. 56 
  (04 Gs;spfs;) 

(c) 
 Ethdhy; nrYj;jg;gl Ntz;ba nkhj;jj; njhif  

        = 840 ×
115

100
   

          = &gh.  966 

 (03 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 

gFjp B 

 

 

 

 

 



 

 

102/BMS 5 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 
tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

mj;jpahak; 03 - tzpfj;jpd; epjprhu; nraw;ghl;L mstPLfs; 

(a) 

𝑇𝑅 = 𝑝 × 𝑞    p = 13q – 20 

𝑇𝑅 = (13q −  20) × q 

𝑇𝑅 = 13q2 − 20q      

      𝑀𝐶 =
𝑑𝑇𝐶

𝑑𝑞
 

     𝑀𝐶 =26q + 5  

    (04 Gs;spfs;) 

(b)        

q = 50 

       𝑀𝐶 =26X 50 + 5 

 𝑀𝐶 = Rs. 1305                       

                                                                                  
(02 Gs;spfs;) 

 (c) 
,yhg el;lkw;w Gs;spapy; 

 TR = TC 

 13q2 − 20q   = 13q2 + 5q − 1000 

25 q = 1000  

q = 40 
 

 ,yhg el;lkw;w fzpak; = 40 myFfs;  
 (04 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

mj;jpahak; 05 - ,uz;L mstPl;L khwpfis xg;gpLjy; 

(a)  

x y  xy  X2 

15 10 150 225 

18 8 144 324 

22 6 132 484 



 

 

102/BMS 6 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 
 

 

 

 

 

   b        =          n ∑ XY -  ∑ X . ∑ Y 

                                 (n ∑ X2 -  (∑ X)2 )  

         b        =          8 X 1,205 – 155 X 64 

                                   (8 X 3,083 - 1552 ) 

 b      =  - 0.438 

 a     =  𝒀̅ − 𝒃𝑿̅ 

 a    =   
𝟔𝟒

𝟖
− (−𝟎. 𝟒𝟑𝟖𝟐) ×

𝟏𝟓𝟓

𝟖
 

 a  =  16.486 

,opT tu;f;f Kiw gpw;nryTf; NfhL      Y = 16.486 - 0.438x  
(08 Gs;spfs;) 

(b)  

gpujpapLf    x = 19                                                                                                                              

   Y = 16.486 - 0.438x 

   Y = 16.486 - 0.438×19 

Y = 8.164 

vjpu;ghu;f;fg;gl;l thbf;ifahsu; jpUg;jp tpfpjk; = 8 

     (02 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 
 
 
 
 
 
 
 
 

23 6 138 529 

24 7 168 576 

20 8 160 400 

17 9 153 289 

16 10 160 256 

∑ 𝒙 = 𝟏𝟓𝟓 ∑ 𝒚 = 𝟔𝟒 ∑ 𝒙𝒚 = 𝟏, 𝟐𝟎𝟓 ∑ 𝒙𝟐 = 𝟑, 𝟎𝟖𝟑 



 

 

102/BMS 7 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

mj;jpahak; 04 - juT toq;fYk; tpsf;f mstPLk;  

(a)       

 

 

 

 

 

 

 

 

 

 

 

Mfhu tFg;G  =  80-89 

 

L1 = 79.5, ∆𝟏= 𝟗 − 𝟐 = 𝟕 C = 10 

             ∆𝟐= 𝟗 − 𝟓 = 𝟒 

 

𝑴𝒐 = 𝑳𝒊 + [
∆𝟏

∆𝟏 + ∆𝟐
] × 𝑪 

 

 𝑴𝒐 = 𝟕𝟗. 𝟓 + [
𝟕

𝟕+𝟒
] × 𝟏𝟎 

 

             𝑴𝒐 = 𝟖𝟓. 𝟖𝟔 

(03 Gs;spfs;) 

(b)  

 
 

Age x f fx Fx2 

50 - 59 54.5 3 163.5 8,910.75 

60 - 69 64.5 4 258 16,641 

70 - 79 74.5 2 149 11,100.50 

80 - 89 84.5 9 760.5 64,262.25 

90 - 99 94.5 5 472.5 44,651.25 

100 - 109 104.5 7 731.5 76,441.75 

  30 2,535 222,007.50 

fhj;jpUf;Fk; Neuk; (epkplq;fs;) X F fx fx2 

50 - 59 54.5 3 163.5 8,910.75 

60 - 69 64.5 4 258 16,641 

70 - 79 74.5 2 149 11,100.5 

80 - 89 84.5 9 760.5 64,262.25 

90 - 99 94.5 5 472.5 44,651.25 

100 - 109 104.5 7 731.5 76,441.75 

30 2,535 222,007.50 



 

 

102/BMS 8 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 

 ∑ f X = 2,535 ∑ f X2 = 222,007.5   ∑ f =30 

 ,il       =  ∑ fX 

                ∑ f 

        = 2,535 

             30 

         = 84.5  

(03 Gs;spfs;) 
 
 

(c) 

epak tpyfy; = √
∑ 𝒇𝒙𝟐

∑ 𝒇
− [

∑ 𝒇𝒙

∑ 𝒇
]

𝟐

        

epak tpyfy; = √𝟐𝟐𝟐,𝟎𝟎𝟕.𝟓

𝟑𝟎
− 84.52        

                                    =  16.12  

    (04 Gs;spfs;) 
(nkhj;jk;  10 Gs;spfs;) 

 

 

 

 

 

 

 

 

 

 

  

gFjp B KbT 



 

 

102/BMS 9 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

  
 
tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

(A) 

mj;jpahak; 02 - tzpfj;jpw;fhd epjpf;fzpjk; 

(a) 

 1tJ Kiw (fzpg;nghwpia gad;gLj;jp)  

 𝑷𝑽 =
𝑿(𝟏−(𝟏+𝒓)−𝒏)

𝒓
 

 X= 65,848, n = 4,  r = 0.12 

 𝑷𝑽 =
𝟔𝟓,𝟖𝟒𝟖×(𝟏−𝟏.𝟏𝟐−𝟒)

𝟎.𝟏𝟐
   

 𝑷𝑽 = 𝟐𝟎𝟎, 𝟎𝟎𝟑. 𝟑𝟖 

fld; njhif = &gh. 200,003.38  

2tJ Kiw (CDF ml;ltiziag; gad;gLj;jp)  

CDF ml;ltiz ngWkjpahdJ %d;W jrkjhdq;fis kl;LNk nfhz;Ls;sd.  

 𝑷𝑽 = 𝒙 × 𝑪𝑫𝑭 X= 65,848,  n= 4 , CDF= 3.037 

 𝑷𝑽 = 𝟔𝟓, 𝟖𝟒𝟖 × 𝟑. 𝟎𝟑𝟕4  

 𝑷𝑽 = 𝟐𝟎𝟎, 𝟎𝟎𝟔. 𝟕𝟐 

fld; njhif  = &gh. 200,006.72 

(b)    

 fld; njhifahdJ &gh. 200>000 Mf ,Uf;Fkhdhy; 

tUlk; 
Muk;gj;jpYs;s 

gb kPjp 

tl;b @ 

8% 
kPs; 

nrYj;Jjy; 
tUl ,Wjpapy; nrYj;j 

Ntz;ba njhif 

1        200,000      24,000          65,848           158,155.79  

2        158,152  18,978.24      65,848           111,286.48  

3   111,282.24  13,353.87          65,849             58,791.86  

4 58,788.11   7,050.61          65,850                    0 

 
(03 Gs;spfs;) 

 
 

gFjp c 

 

 

 

 

 



 

 

102/BMS 10 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(B) 

mj;jpahak; - 02 - tzpfj;jpw;fhd epjpf;fzpjk; 

(a) 

tUlk; 
fhRg; gha;r;ry; fopTf; 

fhuzp. 

(10%) 

,d;iwa 
ngWkjp  

(njhpT A) 

,d;iwa 
ngWkjp  

(njhpT B) A B 

0 (1,800,000)   (1,400,000) 1       (1,800,000)       (1,400,000) 

1         400,000          500,000  0.909             363,600              454,500  

2         800,000          600,000  0.826             660,800              495,600  

3      1,000,000          800,000 0.751             751,000              600,800  

Njwpa ,d;iwa ngWkjp NPV 

 

        (24,600)             150,900  

(05 Gs;spfs;) 
(b)    

 njhpT A       njhpT B 

                 KjyPL                   1 800 000         1 400 000                                     

        Njwpa ,d;iwa ngWkjp                    - 23 892                                151 465   

                                                            or    - 24 600                        or   150 900  

njupT B ,d; Njwpa ,d;iwa ngWkjp Neh;f;fzpakhfTk;, njupT A ,d; Njwpa 

,d;iwa ngWkjp vjph;f;fzpakhfTk;  fhzg;gLtjhy; B xU rpwe;j KjyPL MFk;. 

                                                              (02 Gs;spfs;) 

(C) 

mj;jpahak; 06 – epfo;jfTk; mjd; fzpg;gPLfSk;                                                                                                                           

tif 
rupahf 

mfw;wg;gl;lit 
rupahf 

mfw;wg;glhjit nkhj;jk; 

A 12 5 17 

B 8 7 15 

C 6 12 18 

nkhj;jk; 26 24 50 

 
(a) 

vOkhwhf xU Nghj;jy; njupTnra;ag;gLk;NghJ mJ gpsh];upf; A ,dhy; 

cUthf;fg;gl;ljhf ,Ug;gjw;fhd epfo;jfT   

 A = 
17

50
   = 0.34 

 (03 Gs;spfs;) 
 



 

 

102/BMS 11 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(b) 
vOkhwhfj; njupTnra;ag;gl;l Nghj;jyhdJ rupahf mfw;wg;glhj Nghj;jy; vdj; 

jug;gbd;> mg;Nghj;jy; gpsh];upf; B ,dhy; cUthf;fg;gl;l Nghj;jyhf ,Ug;gjw;fhd 

epfo;jfT. 

B =  
7

24
         = 0.29 

 
(03 Gs;spfs;) 

(D) 

mj;jpahak; 06 – epfo;jfTk; mjd; fzpg;gPLfSk; 

X : thuhe;j Nkyjpff; nfhLg;gdT   (&gh) 

 µ= 7020  σ = 90 

        𝑍 =
X  −  µ

σ 
                                    

𝑍 =
X  −  7020

90
     

X=7200,  𝑍 =
7200  −  7020

90
= +2     

 
                                             7020     7200   

  z 

    0         + 2.00 

Pr(X > 7200 )  = 0.50 – 0.4772  

  = .0228 

  = 2.28%  

thuhe;j Nkyjpf Neuf; nfhLg;gdT &gh 7>200 &ghtpw;F Nky; ngWfpd;w fPo;epiyg; 

gzpahsu;fspd; vz;zpf;if = 0.0228X2000 = 46 

 (03 Gs;spfs;) 
(nkhj;jk; 20 Gs;spfs;) 

 

 

gFjp C KbT 



 

 

102/BMS 12 
(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 

Notice:  
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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